Class 4 English Term -1 Paper Pattern
Section -A Comprehension
Q-1. Read the passage and answer the following questions.

Q-2. Read the poem and answer the following questions.

Section-B Grammar

Q-3. Underline the nouns in the given sentence.

Q-4. Give two examples of common nouns and proper nouns.

Q-5. Choose the correct collective nouns from the bracket given below.

Q-6. Change the following nouns and adjective to verbs.

Q-7. Rewrite the following sentences with the changes suggested in the brackets after each
sentence.

Q-8. Fill in the blanks with simple present form of the verbs given in the brackets.

Q-9. Make the simple past tense of the verbs given below.

Q-10. Rewrite the following sentences in simple future tense with help of the verbs given

in the brackets.
Q-11. Choose the correct answer from the verbs given in the bracket.

Section- C Literature

Q-12. Choose the correct option:
Q-13. Fill in the blanks with the help of words given in the bracket.
Q-14. Write True or False.
Q-15. Give meanings - (Any five)
Q-16. Answer the following reference to context. (Any two).
Q-17. Answer the following questions. (Any four)
SECTION D ( Composition)

Q-18. Letter writing (Informal letter)

Class 4 Maths Term -1 Paper Pattern
Section: A (Conceptual understanding)

Q-1. Choose the correct answer.

Q-2. Fill in the blanks.

Q-3. Write “T” for True and “F” False statements.
Q-4. Match the following-

Section B (Logic based questions)

Q-5. Do as directed.
Q-6. Solve the following.

Q-7. Mental maths.

Q-8. Draw a table and represent the given data using tally marks.

Q-9. Draw a pictograph to show the number of students who attended magic show.
Q-10. Draw the pattern that comes next.

Section C (Application based questions)

Q-11. Study the graph and answer the following questions.

(5x1=5)
(5x1=5)

(2x1=2)
(2x1=2)
(4x1=4)
(4x1=4)

(4x1=4)
(4x1=4)
(4x1=4)

(4x1=4)
(4x1=4)

(10x1=10)
(5% 1= 5)
(4% 0.5=2)
(5x1=5)
(2x 2=4)
(4x 2=8)

(1x4=4)

(10x1=10)
(05%01=5)
(6x0.5=3)
(5%1=5)

(10x02=20)
(8x1.5=12)

(4x1=4)
(1x6=6)
(1x5 =5)
(5x1=5)

(5x1=5)



Class 4 Science Term -1 Paper Pattern

Section — A Conceptual Understanding
Q-1. Fill in the blanks-:

Q-2. Choose the correct option-:
Q-3. Match the following-:
Q-4. Write whether the following statement is true or false-:
Q-5. Define the following (any 2).
Q-6. Give one example-:
Q-7. Answer in one word-:
Q-8. Answer in brief. (Any 3).
Q-9. Explain your answer (Any 3)
Q-10. Think and answer (Any 1)
Section — B Scientific Aptitude
Q-11.Unscramble this scrambled words-:
Q-12. Draw and label-:
Q-13. Label the structure of tooth.
Q-14. Identify the given picture
Q-15. Read the following two statements and choose the correct option.

Class 4 G.K Term -1 Paper Pattern

Q-1. Choose the correct option:

Q-2. Circle the odd one out:

Q-3. State true or false for the given statement:

Q-4. Fill in the blanks:

Q-5. Match the following:

Q-6. Guess who am 1?

Q-7. Unscramble the following words with the help of clues
Q-8. Identify the following pictures with the help of help box

Class 4 S.St- Term -1 Paper Pattern
Section A (Conceptual Understanding)

Q-1 Multiple Choice Questions:
Q-2 Fill in the blanks:
Q-3 Match the following.
Q-4 Name the following:
Q-5 True or False:

Section - B (Think and Answer)
Q-6 Define the following:
Q-7. Answer the following questions in short:
Q-8. Answer the following questions in detail:
Q-9 HOTS (Higher-Order Thinking Skills):

Section - C (Identify & Answer)

Q-10 Circle the odd one out:
Q-11 Classify the words into different groups:
Q-12 Identify the pictures:
Q-13 Picture Talk:
Q-14. On a political map of India, mark and label the following:

(10x1=10)
(9x1=9)
(6x1=6)
(7x1=7)
(2x1.5=3)
(5x1=5)
(7x1=7)
(3x2=6)
(3x3=9)
(2x1=2)

(3x1=3)
(2x2=4)
(4x1=4)
(4x1=4)
(1x1=1)

(10x1=10)
(6x0.5=3)
(10%0.5=5)
(10%0.5=5)
(6x0.5=3)
(5%1=5)
(5x1=5)
(8x0.5=4)

(10 x 1 =10m)
(5% 1=5m)
(5% 1=5m)
(5% 1=5m)
(8x1=8m)

(4 x1.5=6m)
(5x1=5m)
(3x2=6m)
(2x2=4m)

(6 x 1 =6m)
(2 x2=4m)
(6 x1=6m)
(2% 2=4m)
(6 x1=6m)



Class 4 Gujarati 2" language Term -1 Paper Pattern
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(wl3a &)

Y-2) (A) GURell dtatial Ul o(lAott Yslloll oscllol vl
(o) wiell e yal.
(Qewot — w) ULsAYRlS

Y-3) Wl R Uslloll wallol Aul.

Y-¥) A9 [@Qscu ude s3 usllell sciol vl

Y-W) A — 2Rl cltsllHl Uallotl oscltel AUl (818 UL o)
Y-5) HeA atls ust cull.

Y-9) slauiell o [Qseu e 531 wiell wau Y.
Y-¢) ol Aol clts Wl (V) ® ¥ wlat (X)) Q wrual

(Rewot - o) e ALLAIL

Y-¢) o{lAoll vl A AGELHL AVl
Y -10) o{lAell 2Avall A wisHL AWl

(Qewot — o) cALSOL

Y-19) AsRll Yl .

W-1?) Ao [@seu urie 53l el 20eél @vll.

Y-13) slauiell Qo @seu e 531 QA 2l vl
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(3x1 = 3)
(Rx1 = R)

(R x4 =)
(3x1 = 3)

(Sx1=5)
(9x1 = 9)
(xR =¥)
(AxR =)
(5x1=6)

(Uxa=\W)

(Ux =)
(¥x1 =¥)

(¥x1=¥)
(5x1=5)
(§x1=5)
(§x1=5)
(3x1=3)
(3x1=3)
(¥x1=Y¥)

Class 4 Gujarati 3" lanquage Term -1 Paper Pattern

y-1) 8 oll 1o ( ) coudl 2cél oloud,
y-2) Aol 1ol (T ) coucll 20l olsuia.
y-3) “al” ol 1ot (1 )etoucll 20el soud.
Y-¥) AeRaR () coudl 2cel ool

y-u) “a”ofl wan () aducll 20el slendl,
Y-5) Ao AcE UAE 531 wicll e yRL
Y-9) ugdloll ivau cvll.

Y-¢) R ol ot cAvll.

(0.Ux0=04)
(0.Ux10=0W)

(0.Ux10=0V)

(0.Ux10=0\)

(0.Ux10=0W)
(Ax4=0U)
(1xU=0U)
(1x4=0U)
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J-3) 3faa A a1 vf fead gy ol & - R Fifse-
¥-3) W g WRT-

¥-%) W&t (V) R e (x) F 3faa P o -
¥-y) Uil g Hife-

ge ‘g’ (fimd)
-5 ) Tel 3w W Aer © ) Hisiw -
g-9) & it fowie -
Y-¢) st & g (3w ) fofag -

J-R) S freme-

Y-20) R, 3R, ‘S WEH IS VT IS - S W fofay -

¥-22) ‘T, 3R, ‘WA A A - v fofay -

(¥ xol4 =R)
(¥ x =%)

(4 x0% =4)
(& x02=%)

(¥ x0% =)

(¥ x04 =R)

(¥ xo0% =¥)

(R x0%=3)

(¥ x0% =%)

(¢ xol4 =%)
(¥ xo4 =R)

Class 4 Hindi 2" language Term -1 Paper Pattern

TS ‘& (ufsa TeIiw)
U-2) AT & Jehd WAl & 3av @ |
(wfea )
T-]) YIS A YT TR & Ia¥ faf@v |
s ‘@’ (fmd)
T-3) FteiRad yregt ot @& 3t feTlRa |
T-¥) 3N F Usal A AR |
T-Y4) A T Al T @ AT FfSw |
T ‘M (TFATHH)
W-5) ISl % ook ey | (@i )
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(&x28=8)

(8x2=8)

(3x%=3)
(x8=R)
(¥x2=%)

(¥x2=%)
(¥x0.4=R)
(ux0.4=3.1)



k) Tere foreer et | (3x2-7)

q-20) Tk TUTH WU | (uxg=w)
-2%) WA < 3T Uk v1eg H feafag | (&g =N ) (%x8-¥)
T-¢27) W&tk 3w ferfau | (=g o) (3x%.4-¥.%)
T-23)  HEATLTRA WRaAl o 3w 7w | (=S ) (2x3=R)
W ‘g’ (ATE)
U-2%) T decTed TR | (¥x2=¥)
T-24) HEATH VIea1 & dgae feriag | (¥x2=¥)
7-¢8) o & st farror vree forfRRau | (3x2=3)
-9) farorgur aert favre vt @@t faem fifsr) (¥x02=%)
g-2¢) el e veg W mer () hie | (¥x0%-%)
T-2R) @iTohd HEATH IIeaT 1 UgAIa 30T Ag ATRT | (¥x3=%)
T-30) TR ek TR ek T WA | (3x2=3)
T-3Y) WrgeR ferfa | (3x2=R)
9-3R) EE fawea g | (3x2=3)
T ‘g’ (TRHH)
T-33) uATe@ | (¥x2=¥)
Class 4 Computer- Term -1 Paper Pattern
Q-1. Tick the correct answer. [10x1=10]
Q-2. Write True or False. [10x0.5=5]
Q-3. Match the Following. [8x0.5=4]
Q-4. ldentify the pictures. [6x1= 6]
Q-5. Fillin the blank. [7x1=7]
Q-6. Write the full form for the following.(Any Three) [3%x1=3]
Q-7. Classify the browser and Search Engine from the following: [1x2=2]

Q-8. Answer the following questions. (Any three) [3%x1=3]



